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BACHELOR OF EDUCATION (B.Ed.) 

Term-End Examination, 2019 

BES-129 : GENDER, SCHOOL AND SOCIETY 

Time : 3 Hours 	 Maximum Weightage : 70% 

Note : All questions carry equal weightage. All questions are 

compulsory. 

Answer the following question in about 600 words : 

1. Discuss the theories and features of Indian Patriarchy. 

OR 

Discuss the nature of gender biases prevailing in school 

text books with suitable examples. 

Answer the following question in about 600 words : 

2. Discuss the implications of stand point theory for state 

holders of Education. 

OR 

Discuss approaches for creating gender sensitive 

teaching-learning environment. 
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3. 	Answer any four of the following in about 150 words 

each : 

(a) How are gender roles learnt ? Explain. 

(b) "Text books should be gender neutral". Comment 

on this statement. 

(c) What are the primary and secondary stand point 

theories ? Explain briefly. 

(d) Discuss how gender sensitivity can be promoted 

through teaching of languages. 

(e) Explain the concept of "Status production" ? What 

are its characteristics ? 

(f) What is the role of media in addressing gender 

discrimination ? 

4. 	Answer the following question in about 600 words : 

As a teacher, suggest approaches/methods that make 

knowledge construction in the classroom gender 

sensitive. Illustrate your answer with suitable examples. 
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